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Which letter of the following refers to a gland that ComaSguill Ogad 0 0 ) jads = e i ,-‘55
secretes the hormone thyroxine?

The letter The gland szl
A Thyroid gland i,
B Para thyroid gland il alla
C Adrenal ( the cortex) 2,<0) 5,
D Pituitary Taalaal)
E

Pancreas




The figure below, shows the mechanism of action of one of the caligasgd) aal Jas Al Coaw olial JSA

hormones, study it and then answer the following question: DAY Jlpedd) 8l Al ddnad

Which of the following do the letters(A) and (C) refer to? 7%(C) 5 (A) iaY) Ll sk o Laa cfi

(A): Steroid hormone — (C): Hormone receptor Usard)) Jitia (C) = g i sanr (A)
(A): Amino acid hormone — (C): Enzymes activated ihdie Syl (C) - s_,‘-:uf}.”- saas Usan (A)

(A): Steroid hormone — (C): Hormone receptor complex gl Jities 83 (C) — 55w Hsarp (A)




Which hormones are released from nerve cells Coa Vs danand) LA o), Al Clbgasgd) (e L;i

Telaall aarl)

rather than from endocrine glands?

Antidiuretic hormone and oxytocin i snSe¥lg Jadl haY aliadll Jga el

Growth hormone and thyroxine OaiS gy 8llg gaill (ga)d
_________________________________________________== _____________________________|

Aldosterone and cortisol Js3iyeSlly g pngaly)




Which of the following pairs of hormones have opposite effects? || ¢5.liaia )il Lgd A0EN Cligajed) oo AUl Cle ganall Ca Q;i

Cpiglpilly iy

SaeS g pilly gadll (pa b

Aldosterone and cortisol J355lly oy paien g2l




Use the diagram below to answer the question: gl oo Aaladd ol hshalll avll aadiul
If a person is suffering from depression, which drug is the YIEY agiang da (agall lnd) Lad (LS L yaddd ke 1)

recommended treatment that targets the presynaptic neuron? fellial 18 L davas

re-synaptic
neuron

One hal decreasas the receplors Tor dopamine

One thal decreases the reuplake of dopamine (el gl &L,. A e i e




Which of the following patient will most likely need the || 2 dauagall Sl AT ) N o glas o Laa g q;f

dialysis machine shown in the figure below?

——
_,q'.— o -

Artery Vein
Waste products

Membrane

Waste —— p ‘ L .
products

b, Urinary tract blockage patient gl ellceal) o) i .

[a]
=

Liver cancer patient SN e i

Kidney failure patients SN bl s a ﬁ

eSS ———————————— |

d.



il Slja Joa 62L)

SR LT N i
i Increased digestion r_hﬁ.ﬂu )
R L — . . e i

Bronchial muscle relaxation




Which of the following receives the vision and hearing

Gl reand) lgall A dadly dmand) cNLd) Jaies L Laa (]

impulses in the central nervous system?

N =T
N T 7T
)

i The midbrain Ly L i
I —— e B A i ———

d.



The diagram below represents an illustration of neural cells, in which part ¢a gi 2 Ao WAL auag s S sl JS)

would you expect to find the nucleus and many of the cell organelles? fladanl) e Sy Asaal) AL By agag aBsS

Afo20os N Noooa. . .. 9




With which sense are free nerve endings associated? f5all duanl) Glilgdll lgw bais Al duladl L

b

=R
={
=
=
<
sl




Which endocrine gland would provide a burst of energy to U5 T2 paddd dBlal) (e dadd ,.\iﬂ' o Laa slaa 528 ,,51
a person moving out of the way of a speeding bicycle? A5 ya dal aub

Parathyroid Adp gl

Pituitary

Adrenal i,z

|



Release energy rom lood as ATP molecules gl A0 .;;.t__j_gl:t.‘:‘ﬂ AT PO P N PR I ARTIRG

Transporl carbon dioxide o body cells pundl LA M 58l sl b e

Maintain the correct amount of nulrienls Aaall Hgall fye daaall L8l o ial)

; ol B p— '~ &
i Remove carbon dioxide, salts, and water elally E’:i..‘ﬂ_, Oyl s e _,ﬁ..u

ST T e PR N . S SR R R R




The figure below shows the structure of the nephron, study it | :Ji3udl oo wal A Adaal (O g S pudag slial JS&N

and answer the question: fia olgll () ade A laa s @
Which letter refers to the loop of Henle?

[ - - -

[=8
o
<
Eammmd

K e e e e o e e e e e e e P e MR e TR e e e e = e T T e e e e o e Pt e e e e e e e Y e e e e e e e e




Which of the following is the most common physiological Aalill e legad S Al an o Laa (‘5{
response of an addicted person who stops drinking alcohol? Tlsasll Joli oo ABg Crada addl dus gl guaadl)

4. || Euphoric symptoms -\l sl
,
i

Withdrawal sympioms ol _aal sl



How many spinal nerves are there in the human body? Ol paan (B 4S5 clasdl s a8

o [|42 pairs

b. 12 pairs

30 palra

]
=
I

cl

r---------------------------nn—--nm---—-'lll-'""""!'?"2‘4
2331

d_! 431 pals
H



Many types of receptors are found in the skin. A person can tell if an ol paddd) dohiog L CLiwall g\,.‘J Oa e alall (Sean

object is hot or cold, sharp, or smooth. In the figure below, which of @ Lael gl lala oyl o Uala ara aeas G1S13) L dasy

the following letters refers to the receptor that detects heat? Solial JEAN A Bhal) cdufiva ) jads LGN Cijad) Ga

b.||B!

O &

)

B
FEE==g




Some rides at amusement parks cause a person to become O am gl Ladldd) Ak duaa ladl Gany
dizzy when the ride stops. Which structure in the diagram el e V) e Jgenal) Sl La duall) CaBgn
below is most likely involved with the dizziness feeling? Solial pdl (A ¢ lgalls

d. E__f_______________________________:fal_ ______ IPTIDN, . S —— -



mal) danl) AR ) sade i Laa cija (g) colial JSan A

In the figure below, which of the following letters

represents the sensory neuron?

o
-
v,
¢
(
A




In the case of dehydration, the antidiuretic hormone binds b LY dlaal) & gasgd) B cdiliall Glaas i Ja A

to kidney cells receptors causing s Laa 4K LA S Sagagall Sl

The kidney to reabsorbh more water and increase Ealijp glell Jpa mfall (pmd€I sl Sial Ealal

the amount of waler in the urine dudl A el

The kidney to excrete more water and decrease Sl J‘Illl_i. plall ity clall a el o8R0l

the amount of water in the urine

The kidney to excrete more water and increase it A el Baly clall Cm el Sl )

the amount of water in the urine

’------------------- ... .- ---------‘
E The kidney o reabsorb more water and decrease iy cbad e il il giesll dals i
i (v i
L] L]
p i the amount of water in the urine Syl A eball i
ll---------------------------------M-.h----------------------._‘.----m-----------------------------------}



Which of the following refers to a component of the excretory system? C ALY Jlgad Gligge sl ) jads b Laa (g

!
2 |
2



The figure below shows a mind map of the nervous system, each leall duad i.k_gs Tags oLl JS&)

division of the nervous system takes part in the control of the eriard) lgall Ga gia JS Jary dua risand)

body and the communication within the body. Which part of the 57 @i Adis Lalgilly aalls aSadl) e
nervous system does the letter (A) refer to? T(A) il aal) sy iand) jlgall Ga

rum Synem‘ r a5y \

S
A )t ]
(PNS)

Sympathetic nervous system ,__ul_a...ll Fm:_'.'l Syl

b. Somalic nervous systam T“‘*‘“ 9__-..=..JI IFEN|

Autonoimic nervous system P el lgadl



The figure below illustrates the conduction of impulse through nerve WAL jglaa e mand Jlad) JUE) Jiag slial JSid)
axons, what does the letter (A) represent? S(A) cijal) pds s (& 1

Jad i paagee L3

(A) 1 Action potential Channal

= Threshold stimulus szl -3.".':-' .

Myelin shealh .' ; .

o | Neurotransmitter s A .

Ramvier nodes WLty s

u
[
'

d.l . - _— —
™

Hhiilhih----d*-ﬂ-d---H---ﬁhﬁ---dlilihih“i’-.“di“ﬂi‘.H-d-h-h-hhﬁh----d.d .---HF-'h ----- EE P T LT P T R ]



Q.6: dutloa)lg &S gl wlacll: P1 Mark(s): 5/5

How many spinal and cerebral nerves together are there in

Skl pua (A T Auladlly S5l Glinsl) a6 a8
the human body?

Learning Outcomes Covered |

o BlO.3.1.01.059

a. | 31 pairs as) 21
b 30 pairs za3 30
c. | 12 pairs g 12
r ----------------------------------------------------------------------------------- 1
1 ) 1
d. i 43 pairs T 43 i
.. 2 A7 . N, S H




72 ezl Sy P3 Mark(s): 5/5

In the flgure below, which of the following letters reters to a 1l gl e o g L e g ol
colorleas, gelatinlike liguid between the lena and the ratina? ol LI diall Sy dap

oy B
bl

e L¥ri

Learning Outcomes Covered |

o BIO.3.1.03.034

A s

P

ke




8 2L ey T Fark(sk: o/0

Based on the figure below that shows the structure of the .I;"I Lo el o @ aladl JESY N el
war, which of the following refers to a8 membrane that P CAPTUIER ) [y W BT T~ [ PV, T Y PP TN
saparates the middle ear from the inner ear? Fagatah 351 oo

Learning Qutcomes Covered

o BlIO.3.1.03.034

d. A
B
b.
e :
c.i :
d. D




Q11: daanll dulall il P2 Mark(s): 5/5

The diagram below represents an illusiration of & newral eell. In which part Vgt bl | i g s ey i LN

of the diagram below would you expect to find the neurofransmitierns? Fhpsaall S50 dpteg AAS gt G mia Hg‘i ot

Learning Cutcomes Covered

o BID.2.1.01.039

|
a.

o
b.| =

3
c.

4

B
.




0.12: glecal] 22801 P2 Mark(s): 5/5

Hasrmanes releansd by the endocrne aysbam glands cammunizale Slaglaall el sl lga aad I.qﬁuﬂl iy gll BS
intarmation 1o kelp maintain hameastasis edatall N e Bidal) '!l 2 Laai
Which of the following letters refors to the gland that produces spenm®  fiaiah clipe® mi0 o Bl 4 ple b Les s o

Learning Qutcomes Covered

o BlO.3.1.01.083

. ﬁi
b. B
i :




I the figurs below the receplors of tagte and smell function PRI, PR PO Y L B MR PP A | o
tagether and are stimulated in similar ways. Food |5 often el sl el Sl sy il il AL 8 g Shgiall
smelled as it is @sted. Which of the following letters refers to Tt ol it A g ol b i 41 il i
ollaclory nerde receplars?

Learning CQutcomes Covered

o BIO.3.1.03.049

A
.
b| B
e :
¢! :
D
d.




Q14: iladl sl jlgall: P3

Learning Qutcomes Covered

Mark(s): 5/5

s sk
ibor Gath
Bl Widal M acwen
el

lmg

aulomemic nerous syslem.
Which of the following do the betlers (A) and (B refer (0%

e [ e

Fdddita

(8)
Faes podacion el
et e i vt bl

Bon il e g

Based on the Lable below, which shows the mechanizm of the

(4]
it pragylm Bares]
Wik prsdLcion Incrstsd
Fil i el b o
T musc sl

A ol Tigad Jae 07 ping gl el Jpasd ) T

YLISRFE Pt
wadl L Bk
Bt 0
[PPSR

TLPF I R

B p(A) a4 ey L g

B | el
[T E T N N LT |

IB] PR T

P e iy il s

[P PR -t

gl el i e £ A

o BIO.2.1.01.059

(A} Pupil zonsiriction. [B): Saliva produstion reducad

setiadll J A1 aiadl Bl e ([A)

e e s el

b.

(A): Lens cpacity (Bl salivary gland inflammaton

Slalll sall gl 1B Acall Lo 1A

[%): Decreasad of viltresus harmar, (B Prevent saliva production

wlalll i B sl B i o [A)

{A): Iris color change, (B):

Swelling of lhe salivary glands

Telalll 2 1Bl 53 2[R




Q.16: bowdl julS=iyl: P2 Markis): 5/5

Ins the figure below, a simple reflex involves a sensory A g hgean dycts dbl dapend] el ity (0 SN
neuran, an inlermeursn, and 8 motor neuran, gl e Al AR At ol
To which organ does the nerve mmpulse, ndicated by A v aaalla dll laaliy ,‘,._n...n.lll Jall dnSy gk l.f.'rn o

the blue arrow, go¥

Learning OQutcomes Covered

o BI0.2.1.01.059

a.| The hear (H
.";""_' """""""""""""""""""""""""""""""""""""""""""
b The brain fe Lasth
b. ' £
i o o o o e e e | T T T T T B O T " e e e e e e e O Y Y Y
c. The muscles Py Pt
d.| The banes il




Based on the adjacent figure that demonstrates S5
the urinary system in humans. Which of the
following is a correct pathway for urine to leave
the body?

» oy "
S |

(Ureter)

e

(Bladder)

by
(Urethra)

The kidneys-the bladder mm) the ureters — the urethra
The kidneys mmp the ureters mm) the bladder mm the urethra
The urethramms) The kidneysmmm) the ureters mmm) the bladder

The urethramms) the bladder mm) the ureters mmpThe kidneys

o) e (gllg «jglaal) JSAD ) ol
S (A Al Slgad)
Camall o Jsal ol lasaa s b Las (6

Jula ) g s 6 ) S
s e i) g a2
Ll G il G 0K G oY)

Ol g s e 2l g s Y




Q.19: Ll e az> S : P2 Mark(s): 5/5

The human cerebrum is disproportionately large compared to the A e s ) il s LY e pas )

cerebrum of other animals. What advantage does this give to humans? # bl L AN L LAY il puad b

Learning Outcomes Covered

o BlO.3.1.01.059

r-----------------------------------------------------------------------------------1
] . . 1
a.l Increased ability to learn aldll o (80 58 ]
I‘.--- - - ---.--.--.---‘I
b. The heart works more efficiently i1 5218 B Jaws
c.| Greater breathing rate SE1 edm Jaas
d Increase human lifespan Ol sae Joaa BILS




Based on the figure below, which of the following statements (ki Laa Bl ,.{'i colial Jin et Skl

iz incorrect? Thausis b

2
.
a
e
e 4
gy 4

i

b L3

i

.

Learning Outcomes Covered

o BlO.3.1.01.059

A single neuron can communicate with marny LAY e mnell aa bl ol 5aslg Aupac A4 S
a other neurons S Ll
Ir---- N BN BN BN BN BN SN SN BN BN SN BN BN O BN B S N B N BN BN B BN B B S BN B N B BN B BN B B B BN B B BN BN B B BN B B B B B B B BN BN BN BN BN BN BE B B B B B . -------------1
b. - Dendrites covered by a myalin sheath bl el flaia ) iy ) '
1 ]
L-----------------------------------------------------------------------------------‘
c Dendriles receive Impulses from olher neurons SAY dpamall LAY S dieaadl L Aagaadd) 8y s
The axon carries the neuronal impulse  from the cell Apuanll AL ] AL ey cemal) Jldl jgaall i
d. | body to other neurons and muscles eidliaedly (524N




Q.21: wslas)l il BONUS Mark(s): 5/5

Drugs affect a person’s body in many ways. JAAlIS . gl Gaa adil) o ;._.-5 i O3
Which of the following is not a way that drugs affect the q.i Aaliadl gy 48 o PO T | o e @i
nervous system? Torandl Slgadl

Learning Outcomes Covered

o BlIO.3.1.01.046

a. A drug can imitale a neurolransmitler el S sl el S

A drug can provent a neurolransmiller from leaving ianll LI Bpalan Ga peand) JILN ey e g

b.| asynapse

A drug can cause an increase in the amount of o GRS A ) (B S e lad) s o S

c.| neurolransmitter that is released inlo a synapse remand! Lozl
r ----------------------------------------------------------------------------------- 1
[ | . I
1 A drug can hydrolyze both the posl-synaplic cell and b ey A Lenl) sag Al e (8 Mg o Jliadl S 1
| I
d. : the pre—synaplic call ER I :
| I
L-----------------------------------------------------------------------------------‘




Q220 puan]l Shlad] aalnas: BUNUS

Mark(s): 5/5

Dopamine cresses the gap from one neuron and binds to
receiver sites, or receptors, on the membrane of another
neuron. In the diagram below, which letter of the following

indicates receptors open?

Apay By ducall WIAD (sus) Ga Bpadil Cualigal! g
AT Lea WA LK agagall SNy g LA
AL R Y s L L i @ ol a2

Inpuks
s S Prespaasie hearon

) 2L
‘ N AL LS

Learning Outcomes Covered

o BIO.3.1.01.046

bkttt 1




The sciatic nerve extends from the lower spinal cord to the | Jgh o\S 13 . aall Y Syl Jaall Jaud g el Sl

foot. If a person’s sciatic nerve is 0.914 m in length and &a 107 Jadl) 4ga dejg 0 0.914 L i dic ol 1
the speed of an action potential is 107 m/s. 1 Jeh Ao Ja sl Jlud) Lt A ddall Buall Lad

How long will it take for a nerve impulse to travel the full NalS vl
distance of this nerve?

{Q 0.0085 Second Lk 0.0085
a. = ow - = |

107.914 Second als 107.914
b
106.086 Second auls 106.086
.C

o 97.798 Second sl 97.798 1 4




Which of the following receives the vision and hearing

TGO el Jlgal) (B Aupadly dnad) N lad) s (b a6

impulses in the central nervous system?

T |
N )




In the figure below, which letter of the following indicates the Al ) s s laa s ‘5‘ colial JSi) o
structure that relays signals between the brain and the spinal cord? T Seadl Juadly £ladd) Sy CLASY) Jiy (g3

et Cornbrum




Which of the following is a nerve column that extends from the || £l (i fiay acb 2966 38 (o Laa Lgi
brain to the lower back, and it is protected by the vertebrae? Pl duaaly bl Sl




Which of the following is a characteristic of the et sl o giiad ) gl oo b s
sympathetic division of the autonomic system? wm

Digestion increased

.. W

— — LS
b W . 8

Mucus production reduced bad ) s ‘ b
LVLD I B 4VLE |

Slows the heart rate ol Syl iy |

Pupil constriction



inthe figursbelow, which of the folowing lttrs ) e e g o 050
represents the vertebra?

Wichof el s oty e+ | ol i D

N prasymoeled ot ysen? fud
B

i@. o O@Digesliun e il ;a

ool e e Gyl il

ol flakl

Selv producon et

oot musle rled s |



In the figure below, which of the following letters ol Ga Oglall gt N el S Laa cioa (gl ool gl 3
represents the colored part of the eye ?

P
(R






Which of the following represents the correct sequence as

o) slael gl clagal gl gl cuiill L

sound waves travel in the ear’s organs to trigger an impulse? .
oo T TSR AP 0 s ) e P35

Cochlea, incus, stapes, and eardrum ROUFINA A S il & dad gl

I
I.b

Auditory canal, tympanum, hair cells and cochlea dadgdll o duplll AL 8 o Al & A 1l

Hair cells, auditory canal, cochlea, and malleus bl & dadgll 2 duedd) sLll 2 dyjedll LDA)



With which sense are free nerve endings associated? Paall dpmnll il gy bugg A Aulall L

Taste

Hearing




47,

T

42,

=

regulating temperature

Urinating

Which is not a function of the integumentary system?

Protection against foreign objects

sense through receptors

How is your body cooled?

Fat

Qil glands




36.

types of receptors are found in the skin
dadl A Sl e 5

photoreceptors i s B heatreceptors & s Sl
pressure receptors hiall =it D cold receptors 2l 3.

light touch (ealll S

5. Which 1s the most common response of a phvsiologically addicted person who stops

dninking alcohol?

A. euphornic svmptoms
B. hvperactive behavior
C. normal behaviors

D. withdrawal symptoms




5. A sensor that monitors and responds to changes in

Understand Main Ideas the environment is called the ?
A. control center

3. Which of these secrets a hormone that regulate B. receptor

the rate of metabolism of the body?

C. effector
A. spleen D. receiver
B. cerebrum
C. thyroid
D. kidney

4. A signal that the bladder is full is sent to the cen-
tral nervous system by?
A. feedback loops
B. sensory neurons
C. nephron tubules
D.

receptor proteins



@ How do impulses move at a synapse? @ What is true about reflexes?

A Dy an electrical charge A They travel to the brain on sensory neurons.
B bya chu:_mcal neurotransmitter B They travel to the brain on motor neurons.
C by touching the next neuron C They are controlled voluntarily.

D by osmosis D They are processed in the spinal cord and

not in the brain.

(® Which would play a major role in making plans
for choosing a career? "1/ WA e
A Central nervous system, because it analyzes 0 ound in which structure of the inner ear

and stores information. stimulates hair cells in response to sound?

B Central nervous system, because it control A semicircular canals
reflexes. B cochlea

C Peripheral nervous system, because it relays C oval window
information to skeletal muscles. D ear canal

D Peripheral nervous system, because it
responds involuntarily.

() Ears are adapted to respond to which form of
@ Which structure would be most active if you energy?
were in a hot, dry desert without water? i
A medulla oblongata
B pons
C cerebrum
D hypothalamus




Which structure in the illustration below
inverts an image and focuses it on the retina?

DO® >
o0 = >

(P What structure can change the diameter of the

pupil in response to light energy?
A iris
B lens

C rods and cones
D cornea

What transmits impulses from pain, heat, and
touch receptors in the skin and other body
organs?

A interneurons

B motor neurons

C sensory neurons

D free nerve endings

@ How does illegal drug use affect dopamine?
A It is not reabsorbed at the synapse.
B It is reabsorbed at the synapse.

C It is not released at the synapse by the sending
neuron.

D It does not bind to receptor sites on the
receiving neuron.

@ What is characteristic of drug tolerance?
A psychological or physiological dependence
on a drug
craving for a drug

B
C need for more of a drug to attain a desired
effect

D

withdrawal effects



1. Which 1s the result of the actions of the sodium-potassium pump?
A. negative charge inside a neuron
B. no charge inside the neuron
C. no charge outside the neuron
D. positive charge inside a neuron

2. Which 1s controlled by the parasympathetic nervous system?
A. increased digestion
B. increased heart rate
C. reduced mouth saliva
D. reduced peristalsis

3. Which 1s a snail-shaped structure in the ear filled with fluid and lined with tiny hairs?
A. cochlea
B. incus
C. malleus
D. tympanum

4. Which 1s the effect of dopamine on the nervous system?
A. creates pain feelings
B. creates pleasure feelings
C. jump starts the nervous system
D. shuts down the nervous system

9. Which 15 the most common response of a physiologically addicted person who stops
drinking alcohol?

euphoric symptoms

hyperactive behavior

normal behaviors

Do mpr

withdrawal symptoms



m Which body system transports hormones from
endocrine glands to their target tissues?

A circulatory system
B digestive system
C excretory system
D nervous system

(® Which makes up the body’s excretory system?
A lungs
B skin
C kidneys
D All are part of the excretory system.



Which iIs not part of the central nervous
system?

A. brain
B. spinal cord
C. Interneurons

(D)sensory neurons



What part of the brain Is
identified in the Iimage?

A. pons
B. cerebrum

@hypothalamus
D. medulla oblongata




Cerebrum

Name the part of
the brain that Is
responsible for
memory.

Hypothalamus
Medulla

A. hypOthaIamus oblongata
B. medulla oblongata

@cerebrum

D. cerebellum

} ‘
' Cerebellum



What does the cerebrum regulate?

A. breathing and heart rates

B. complex motor skills

C. sleep, aggression, and fear
(D) voluntary body movements




®Which ispart of the central (2

What does the cere
nervous system? IS

T regulate?
A brain ©~ A. breathing and heart rates
B. spinal cord / B. complex motor skills
C. interneurons C. sleep, aggression, and fear

(D )voluntary body movements

a@m\az\\_"\d v




What is a nerve?

a bundle of axons

B. a chain of neurons
C. a sensory synapse
D. a series of Iimpulses

What are sensory receptors?

A. cells that create action potentials and
thresholds
B. localized areas of the central nervous

system
C. chemicals that cross a synapse between

two nerve cells
(D .)specialized neurons for detecting the
world around you



Which of the following is a characteristic of the ol Jall oa (obiacd) ) el o0 ) b a g
sympathetic division of the autonomic system? 19_‘1411

Digestion increased

AN W

Mucus production reduned
anc- N H annaas

Slows the heart rate ol Sy dopa iy |

Pupil constriction il



What part of the nervous system is
usually under voluntary control?

A. autonomic nervous system
somatic nervous system

C. sympathetic nervous system

D. parasympathetic nervous system




How do the sympathetic and parasympathetic
nervous systems act together?

A. They send and receive neurotransmitters.

They send opposing signals to the same
organs.

C. They balance voluntary and involuntary
responses.

D. They receive the same impulses from
different receptors.




Which of the following actions is controlled by the somatic nervous system?

You sit down in a chair. ) The muscles of the esophagus contract
when you swallow food.
() Your heart beats faster when you exercise. Your lungs inhale and exhale air as you

sleep.



Which of the following is an action that is controlled by the autonomic nervous system?

Iqesting To0 ICKINg a ba
() digesting food 0 kickinga ball

() raising your hand () sittingina chair



The neurons that make up your peripheral nervous system branch out into two systems. What are the two systems called?

Select 2 choice(s)

] central nervous system @snmaticnewnussystem
@ autonomic nervous system || involuntary nervous system

-] voluntary nervous system || sympathetic nervous system



Select the two branches of the autonomic nervous system.

Select 2 choice(s)
[ ] automatic nervous system [ ]| peripheral nervous system
L] | somatic nervous system @ parasympathetic nervous system

L] | central nervous system @ sympathetic nervous system



The receptors of taste and smell function together and are Clgial uaindy a G gl add) Sl Jand
stimulated in similar ways. Food is often smelled as it is .4y ol pladall Qadll pdy N 48 Aaia (3 by
tasted. Which of the following numbers refers to taste bud? S ay )y A HG5 0




Which part of the eye contains light-
detecting receptors?




What is the function of the optic nerve?

A.
B.
C.

t forms a visual image.

t controls the muscles of the iris.

t interprets light intensity and colors.
t sends action potentials to the brain.




Which of the following represents the correct sequence as

o) slael gl clagal gl gl cuiill L

sound waves travel in the ear’s organs to trigger an impulse? .
oo T TSR AP 0 s ) e P35

Cochlea, incus, stapes, and eardrum ROUFINA A S il & dad gl

I
I.b

Auditory canal, tympanum, hair cells and cochlea dadgdll o duplll AL 8 o Al & A 1l

Hair cells, auditory canal, cochlea, and malleus bl & dadgll 2 duedd) sLll 2 dyjedll LDA)



(A

Where are sound vibrations converted
Into nerve impulses?




Where are the sensory receptors that
detect your body’s position and motion?




Many types of receptors are found in the skin. A person can tell if an O paddd) kg . SRl g!,ii Oa 3 dlall (Sea
object is hot or cold, sharp, or smooth. In the figure below, which of ¢ -LeU s lsla (sl o Lalu Cume pa OIS 13) L saay

the following letters refers to the receptor that detects heat? Tolial JEAN B Blal) i ) Jady 40N Gial) Ga




With which sense are free nerve endings associated? Paall dpmnll il gy bugg A Aulall L

Taste

Hearing




Why Is this receptor
located closest to the
surface of the skin?

t detects cold.
t detects heat.
t detects heavy pressure.
t detects light touch.

Qo w»




Alcoholic juices Wl flaad ™




The diagram below represents an illustration of neural cell.
In which part of the diagram below would you expect to find
the neurotransmitters when an action potential reaches the

end of the neuron?

(1)

B s LAY aniagi puy Jiay olia) JSAU
Latie dysand) S35 Sgag adgil olial auidl (34 gia
Taguand) Aal) Al ) Jadl) g Ja

(4)




